YDS DENEME 14.


1-22. sorularda cümlede boş bırakılan yerlere uygun

düşen kelime ya da ifadeyi bulunuz.

1.
I want to read his new book even though it was _______ by the literary critics so negatively.

A) revised 
B) reviewed 


C) summarised 
D) examined


E) returned

2. 
Though the forecasters had feared that the hurricane would _______ the coast, the storm ended up changing its course and caused relatively little damage.

A) uproot 
B) insult 


C) devastate 
D) injure 


E) splash

3. 
Though it was not a very good film, I liked it because of the leading actress, whom I think is_______  beautiful.

A) absolutely 
B) casually 


C) frequently 
D) principally 


E) rarely

4. 
I really don't know how he is because I haven't seen him _______.

A)  lately 
B) unusually 


C) constantly 
D) currently 


E) evenly

5. 
I think we have_______  petrol to get home tonight, but we should fill up first thing in the morning.

A) flammable 
B) average 


C) appropriate 
D) sufficient 


E) complete

6. 
In the summer of 1993, _______ the Midwest, America, was drenched with rain, the South had almost no rain.

A) since 
B) while 


C) despite
D) however 


E) during

7.
Dolphins, ________are said to be very intelligent animals are fun to watch as they follow a ship through the water. 





A) who
B) which




C) that 
D) where




E) how 


8.
We had almost reached the summit of the mountain when we had to turn back_______ high winds. 




A) in order to
B) so that



C) whereas 
D) in case



E) due to 



9.
It can be difficult for young people to get the kind of job they want _______they speak one or two foreign languages. 


A) besides
B) as 



C) no matter
D) unless 


E) by the time 



10. 
John and David had part-time jobs to support themselves during their studies, _______? 


A) had it
B) did it 



C) didn't they
D) don't they 



E) hadn't they 

11.
When the Portuguese heard
about ships coming from Madagascar loaded_______ spices, they became determined to learn the route _______ the island. 




A) about / for
B) with / to



C) for / with 
D) of / about



E) from / on 



12. 
A number of people were hurt in the accident and so​me were ________ injured ________

 they died before the am​bulances even arrived.


A) seriously enough / for 


B) as serious / as


C) the most serious / of 


D) the more serious / than 


E) so seriously / that

13. 
My husband and ________ hate beaches in the summer because we find _______  too crowded and noisy.


A) me / theirs 
B) myself / us 


C) mine / themselves 
D) I / them


E) my / ours

14.
The improvement of relations between the two countries permitted their leaders________ more constructive summits.


A) to hold
B) to be held


C) having held
D) holding



E) to have held

15. 
They had to turn back because they had not taken______ food to last for _______ expedition.


A) some / all of 
B) too much / every 


C) enough / the whole 
D) no / each


E) any / several

16.
Just as we _______ for the cinema, our unexpected guests ________ .

A) have left / will arrive


B) had left / were arriving


C) left / had arrived


D) leave / are arriving


E) were leaving / arrived
17.
Despite all that ________ by American and Soviet space programs so far, by the end of the 21st   century, no manned landings  _____ Mars.



A) is achieved / will have been making


B) had achieved / were being made


C) will have been achieved / are made


D) has been achieved / will have been made


E) was achieved / is going to make

18. 
Before refrigeration _______ , people _____ food in one of the three forms; fresh, dried or salted.


A) would have invented / ate 

         B)  was invented / had to eat 

         C) had invented / had eaten 

         D) is invented / used to eat

         E) has been invented / have eaten

19.
Since nobody _______Tom, his appearance at the party really _______ us.

A) is expected l is going to surprise 

B) expects / would have surprised 

C) had been expecting / surprised

D) was being expected / had surprised 

E) will be expecting / surprises

20. 
If it_______  impossible to find new trading partners, we _______ to continue under the old arrangements.

A) could prove / are attempting 

B) would prove / had attempted 

C) used to prove / have attempted

D) should prove / will attempt 

E) had to prove / attempt

21. 
Linda likes London so much that she really wishes she _______ to New York next month


A) won't have moved 
B) weren't moving 


C) isn't moving 
D) doesn't move 

E) hasn't moved

22.
Take this application form and _______ it _______ as soon as you find the time. 

A) turn / on

B) fill / out



C) keep / up 

D) take / off



E) tear / into 
 



23. -27. sorularda, aşağıdaki parçada numaralanmış yerlere uygun düşen sözcük ya da ifadeyi bulunuz.

During the Gulf War the extent of the development of television and radio news broadcasting was very (23) ........ The CNN reporter Peter Arnett gave live coverage of the situation present in the capital city of Iraq, Baghdat. The telephone lines which were (24) ....... open and full of minute by minute reportage of the events taking place, served as the main means of communication. (25) ....... they were not given complete freedom in the use of their television cameras, the scenes that they were able to show the world were viewed with interest and astonishment. The (26) ....... world was able to follow the events of the war as they (27) ....... place, from their living room television sets.

23-


A)
apparent
B)
fuzzy


C)
hazardous
D)
essential


E)
urgent

24-


A)
sometimes
B)
constantly


C)
rarely
D)
spontaneously


E)
directly

25-


A)
If 
B) 
because


C)
As
D)
Although


E)
While

26-


A)
only
B)
all


C)
whole
D)
entire


E)
complete

27-


A)
take
B)
took


C)
taking
D)
have taken


E)
had taken

28. -32. sorularda, aşağıdaki parçada numaralanmış yerlere uygun düşen sözcük ya da ifadeyi bulunuz.

Railway systems (28) ……….  an efficient form of transport before the construction of relatively smooth, and even road surfaces, and the invention of the pneumatic tyre. In fact, as early as the sixteenth century stretches of wooden railway track (29) ……….  in many parts of Europe. These were   generally built in the (30) ……….  of mines, and were used (31) ……….  transporting trucks laden with coal or mineral ore. This was of course before the (32) ……….  of the steam engine, so the trucks were pushed by men or pulled by horses.

28-
 


A)
provided
B)
supported


C)
discovered
D)
invented


E)
constructed

29-



A)
builds
B)
were built


C)
have built
D)
have been built


E)
will be built

30-


A)
near
B)
next to


C)
vicinity
D)
surrounding


E)
far

31-



A)
in
B)
at


C)
on
D)
for


E)
with

32-



A)
discovery
B)
instruction


C)
design
D)
use


E)
invention

33-42. sorularda yarım bırakılan cümleyi uygun

şekilde tamamlayan ifadeyi bulunuz?

33.
_______ , but soon discovered that it was much more difficult than we'd thought.
A) 
I doubt that we'll have much trouble with the 


project

B) 
Everyone knew the job was extremely hard

C) 
Our team hadn't prepared properly for the 


match. 

D) 
The teacher will explain to us how to do the assignment

E) We figured the task would be easy to complete

34. 
Jack's being fired came as no big surprise, _______.
A) 
as he was one of the hardest workers at the 


factory.

B) 
after he had just been named employee of the 


month

C) 
as he had just had a rather unpleasant row with 


the boss

D) 
since the company was owned by his favourite 


uncle

E) 
while the manager constantly praised his work 


performance.

35. 
Until they determine the cause of the disease, _______.

A) 
they won't be able to find a cure for it.

B) 
it's taken the doctors incredibly long to treat 

C) 
many people have died from it recently

D) 
it definitely comes from unsanitary practices. 

E) 
nobody knew how it was transmitted

36. 
_______ , I am quite familiar with his works.

A) 
While I don't necessarily agree with Hume 

B) Once I'd met Ailen Ginsberg on the subway 

C) As I am unable to read Classical Greek

D) Because I don't like reading philosophical books

E) Since I'd never heard of Francis Bacon

37.
_______that residents are worried about the possibility of further incidents.


A) 
The weather had been so dry for such a  long 



time
B) 
Although firemen do their jobs very well


C) 
Because of several recent fires in town


D) There have been so many reports of burning

buildings in the area


E) 
in spite of the very small chance of being 



trapped in a burning building

38 .
If it is true that he promised to do the job, _____.

A) then he cannot escape his responsibility now
B) 
because, otherwise, it would not be so important
C) 
we should find someone, just in case he doesn't
D) 
he has, on many occasions, disappointed us, 



you know


E) 
unless he has something urgent to attend to

39. 
Fortunately, we caught the last ferry, _______.

A) 
because the boats leave every half hour

B)
or we would have had to take a minibus

C) 
and we had to wait 30 minutes for the next one

D) 
the price of a token has gone up to 200,000 TL

E)  since we were among two hundred passengers

40.
Harry didn't address the letter properly, _______.

A) 
while he was taking it to the Post Office


B) 
though he could have sent a message through



the internet


C)  so I doubt that it will ever arrive at its destination
D) 
for he forgot to put a stamp on, too


E) as he didn't know exactly what the content of the



parcel was

41. 
Norway has continued to engage in commercial whaling _______.

A) 
on the contrary, mink whales are not in danger 


of extinction

B) 
when the IWC was formed in 1946 to regulate 


whaling

C) 
until Suend Foyn invented a cannon-fired 


harpoon 

D)
despite there being an international ban

E) 
as well as the skin, which is used for leather
42.
............. before the city planners took their job seriously.
A) 
Town planning has continued to be their prime 

concern
B)  
A great many ugly apartment blocks had been 

built
C)  
In this respect new cities are at a great 


advantage
D)  
A good architect views his work within the 


context of the area at large

E) 
New cities never have the same atmosphere as they used to
43. — 46. sorularda, verilen cümlenin hangi sorunun cevabı olduğunu bulunuz.

43-
The orange one, though the green one suited her more.

A)
What would you like to eat?


B)
Did she buy the green blouse or the orange one?

C)
Which car did you buy last week?


D)
Where would she like her shirt to be sent?


E)
She preferred to buy the orange one, didn’t she?

44-
Not yet, but I'm planning to visit them this weekend.

A)
Did you visit you friend in the hospital yesterday?


B)
You haven't seen Mike and Anne's new house, have you?

C)
Have you ever been abroad recently?


D)
I wonder why you didn’t visit your grand parents.


E)
Did you meet your fiancée at the airport?
45-
Yes, my husband did not want to accompany me.

A)
Did you take history lessons at the university?


B)
Have you studied chemistry?


C)
You attended the company reception alone, didn't you?

D)
You gave a party last week, didn’t you?


E)
Will you help me prepare for the party?

46-
Well, I'd rather do something else.

A)
Let me help you set the table.


B)
Why didn’t you take the children to the nursery school?


C)
How did you prepare for the party by yourself?


D)
It's a lovely day. Let's prepare some food, and go on a picnic, shall we?

E)
Shall I come to the picnic with you?
47-50. sorularda verilen İngilizce cümlenin Türkçe dengini bulunuz.

47.
None of the styles that are in fashion this season appeal to me.
A) 
Bu sezon moda olan stilleri pek beğenmedim.

B) 
Bu sezon moda olan stillerin hiçbirini tam olarak beğendiğimi söyleyemem.

C) 
Bu sezon hangi stillerin moda olduğu konusunda hiçbir fikrim yok.

D)
Bu sezon moda olan stillerin hiçbiri bana hitap et​miyor.

E) 
Bu sezon moda olan stillerin hiçbirini uygulayabi​leceğimi sanmıyorum.
48. 
The capital city of Ireland, Dublin is relatively small in area but is rich in cultural amenities.
A) 
İrlanda’nın başkenti Dublin oldukça küçük bir şehir olmasına rağmen zengin kültür kaynaklarına sahiptir.

B) 
İrlanda’nın başkenti Dublin, kültürel etkinliklerin bol olduğu oldukça küçük sayılabilecek bir şehirdir.

C)
İrlanda’nın başkenti Dublin, alan bakımından oldukça küçüktür ama kültürel etkinlikler yönünden zengindir.

D) 
İrlanda'nın başkenti olan ama oldukça küçük yüzölçümüne sahip Dublin'in zengin kültür mirası vardır.

E) 
İrlanda’nın başkenti Dublin, çok küçük bir yüzölçü​müne sahiptir, ama kültürel zenginliği büyüktür.

49. 
Farming draws heavily upon science and technology to produce the food and fiber the world needs.
A) 
Dünyanın yiyecek ve lif ihtiyacının tamamını tarım ancak bilim ve teknolojinin yardımıyla karşılayabilir.

B) 
Tarım, dünyanın ihtiyacı olan yiyecek ve lifi, büyük oranda bilim ve teknolojinin desteğiyle karşılayabilmektedir.

C)
Dünyanın ihtiyacı olan yiyecek ve lifi üretmek 



için tarım, bilim ve teknolojiden yoğun bir şekilde 



ya​rarlanmaktadır.

D) 
Tüm dünyanın yiyecek ve lif ihtiyacının karşılanması ancak tarımın ağırlıklı biçimde bilim ve teknolojiye dayandırılmasıyla mümkün olur.

E) Yeterli miktarda yiyecek ve lif üretilebilmesi için 



dünyanın her yerinde tarım, bilim ve teknolojiden 



yoğun olarak yararlanmalıdır.

50. 
Nineteen major rivers, of which the Indus and the Brahmaputra are the largest, have their sources in the Himalayas.

A) 

Kaynağını Himalayalar'dan alan on dokuz nehir

 i​çinde en büyükleri Indus ve Brahmaputra'dır.

B) 
Himalayalar, on dokuz nehrin kaynağıdır ki bunlardan Indus ve Brahmaputra çok önemli nehirlerdir.

C) 
Aralarında Indus ve Brahmaputra gibi önemli 



nehirlerin de bulunduğu on dokuz nehrin 



kaynağı Himalayalar'dadır.

D) 
Indus ve Brahmaputra'nın yanı sıra on dokuz önemli nehir kaynağını Himalayalar'dan alır.

E) 
En büyükleri Indus ve Brahmaputra olan on dokuz önemli nehir, kaynağını Himalayalar’dan almakta​ dır.

51-54, sorularda verilen Türkçe cümlenin İngilizce 

dengini bulunuz.

51.
Üzerinde kimlik kartı olmayan öğrenciler kesinlikle sı​nav salonuna alınmayacaklardır.
A) 
No students will be allowed to enter the 


examination hall without showing their identity 


cards first

B) 
Admittance into the examination hall is subject 

to the presentation of a valid student identity 



card. 


C) 
It is certain that those students will not be 



admitted into the examination hall because they 



don't have their identity cards.

D)
Students not having their identity cards with 


them will certainly not be admitted into the 


examination hall

E) 
Certainly, students entering for this examination 


need to bring their identity cards with them to 


the hall.

52. 
Hep bakterilerin yol açtığı zararlı şeyleri duyarız, oysa onlar almasaydı, yeryüzünde bitki ya da hayvan ya​şamı diye bir şey olmazdı.
A)
We always hear of the harmful things bacteria 


ca​use; however, without them there would be no 


such thing as plant or animal life on the Earth.

B) 
Although some bacteria are harmful, plant and 


animal life on the Earth is dependent on them, 


being unable to survive without their aid.

C) 
Despite the fact that plant and animal life on the 


Earth would not be possible were it not for them, 


bacteria can cause untold harm.

D) 
We usually hear of bacteria in relation to the 


harm they cause, yet it's surprising to learn that 


plant and animal life could not survive on the 


Earth without them.

E) 
Without bacteria, which are usually thought of as 


harmful, there wouldn’t actually be any plant or 


animal life on the Earth.

53. 
Sıtmayla mücadelede kullanılan kinin, sadece yağ​mur ormanlarında bulunan bir bitkiden üretilmektedir. 
A) 
A plant which grows solely in rain forests



provides us with Quinine, which is mainly used 



to combat malaria.

B) Quinine, which was used to fight malaria, was 


extracted from a plant found abundantly in rain 


forests.

C)
Quinine, used to fight malaria, is extracted from 


a plant found solely in rain forests.

D) The sole drug used to combat malaria, Quinine, 

is extracted from a plant found mainly in rain 


forests. 

E) The plant from which the anti-malaria drug


Quinine is produced grows only in rain forests.

54. 
Korsanlığın denizlerden hemen hemen tümüyle yok edilmesi, kanun ve düzen için verilen mücadelede bir dönüm noktası olmuştur.
A) 
Ridding the seas of piracy was the result of a 


long-term struggle for law and order

B) 
Pirates have virtually been eliminated from the 


seas; therefore, they no longer threaten law and 


order.

C) 
A turning point was achieved for law and order 


when piracy was finally banished from the seas.

D)
The almost complete elimination of piracy from 


the seas was a milestone in the struggle for law 


and order.

E) 
Before, the complete elimination of piracy from 


the seas, there was a relentless struggle for law 


and order.

55-57. soruları verilen parçaya göre cevaplayınız

India is thought to have had 40,000 tigers at the turn

of the century, but the maharajas killed them in their

thousands. By the time such hunts were banned in

India in 1972, there were fewer than 2,000 tigers left.

India, with 60 percent of the world's tigers, is warning

that the animal is headed for extinction. Officials say

that poachers are the tigers' main predator - the

animals' bones are ground into potions in China and

other Asian countries. Conservationists say the real

threat to the tiger is governmental reluctance to halt

the development destroying the tigers' natural 

habitat. While the tigers in India's wildlife sanctuaries 

are thriving, those roaming elsewhere- half the tiger 

population - are competing for space with dams, 

roads, and industry. Over the past 25 years, India's

tiger habitats have shrunk by half.

55.
According to the passage it's only since the early 1970's that in India, _______.
A) 
tigers have been killed for money

B) 
medical properties of the tiger have been known

C) 
an increase in the tiger population has been 


observed

D) 
maharajas have developed an interest in 


hunting tigers

E)  tigers have been officially protected.

56. 
According to officials, the main reason why India's ti​gers are under threat is _______.

A) 
that the construction of roads and dams reduces 


their natural habitat.

B)
that poachers are killing them in order to sell 


their bones to certain Asian countries

C) 
the government is purposefully making it difficult 


for them to survive

D) 
a matter of disagreement between various


different parties

E) 
that the hunting of tigers is one of the major


sports in India

57. 
In the opinion of the conservationists, _______.
A) 
the government is ultimately responsible for the 


tigers becoming endangered

B) 
no tigers in India have as much space as they 


need in which to live satisfactorily

C) 
if there were any wildlife sanctuaries, the tigers 


would be able to survive

D) 
the tigers are being killed by poachers who are 


actually working for the government

E) 
all the tigers in India should be kept in wildlife 


sanctuaries

58-60. soruları verilen parçaya göre cevaplayınız.

When a tornado watch is announced, it means that 

tornadoes are expected in or near your area. After

such an announcement, it is best to listen for advice

on the radio or television. Watch the sky, especially 

to the south and Southwest. When a tornado watch is 

announced during the approach of a hurricane, 

however, keep watching the sky to the east. If you 

see any revolving, funnel-shaped clouds, report them 

by telephone to your local police or weather bureau. 

Do not use the telephone to ask for additional 

information when a tornado warning is announced, 

take shelter immediately. The warning means that a 
tornado has actually been sighted, and may strike in  

your area. Your best protection is an underground 
shelter, or a substantial steel-framed or reinforced-
concrete building.

58.
The author suggests that during a tornado watch _______.
A) it’s best to get out of the area

B) unplug your electrical appliances, like television

C) the sky looks as if it is spinning

D) you should keep an eye on the sky 

E) you must get to shelter immediately

59. 
The passage implies that tornadoes _______.

A) 
are usually the result of bad weather caused by 


hurricanes.

B) 
are often broadcast live on television as well as 


on radio

C)
tend to appear from the south and south-west, 


except during hurricanes

D) 
can even suck up steel-framed or reinforced-


concrete buildings

E) 
can happen without warning during any type of 


weather conditions

60.
 We learn from the passage that a tornado warning _______.

A)
means that someone has really seen a tornado

B) 
needn't be taken too seriously in today's world

C) 
will only be issued in areas where shelter is 


available

D) 
should be reported to the police or weather 


burea​u

E) 
is simply another name for a tornado watch

61-63. soruları verilen parçaya göre cevaplayınız.

A revolutionary feat of park management, tree 

surgeons in Paris have started the painstaking 

job of inserting a computer chip into each of the

90.000 tress lining the capital's streets. It is hoped 

that hi-tech surveillance will be better than the 

human eye at preserving their health. Previously, it 

used to take months to examine the trees in a

single district and assess their health, but by the end

of the year, all twenty districts will be able to be 

checked in 15 minutes. The life of a tree in Paris is 

not an easy one. Car exhaust fumes, dog urine, salt 

and lack of water pose great threats to their survival. 

Consequently, the life expectancy of trees in the city 

centre is generally 30 or so years less than those in 

the suburbs. Park workers hope this new technology 

will help correct this.

61.
The passage suggests that the job of putting the chips into the trees _______.
A)
has been a difficult and time-consuming project

B) 
will have been completed by the end of the year

C) 
has only been completed in one of the 20 


districts 

D)
is taking much longer than originally expected

E) 
is threatening the already fragile trees of Paris

62. 
The computer chips _______.

A) 
are expected to extend the lives of the trees in 


Paris

B) 
will limit the amount of salt the trees are 


exposed to

C) 
will not be as accurate as the human eye

D) 
will require extra staff who will monitor the trees 


all the time

E) 
make sure that the trees are all protected from 


exhaust fumes

63.
We are informed in the passage that _______.

A) 
so far, only 90,000 of the trees in Paris have 



been equipped with computer chips


B) 
trees in the centre of Paris rarely live for more



than three decades


C)
trees in Parisian  suburbs live longer than those in the centre


D) 
there are no trees in central Paris that are older



than thirty years


E) 
in the last thirty years, many of Paris's trees have died

64- 66. soruları verilen parçaya göre cevaplayınız

The purpose of the archaeologist is to dig up the past in order to study the activities of mankind. "Archaeology" is derived from Greek words meaning "ancient study", and experts in this field have already uncovered scores of 
buried cities and 

evidence of old civilisations that tell us fascinating stories of vanished peoples and how they lived. Archaeology is also useful in more unusual ways. During World War II, the Japanese sent up balloons
with bombs, designed to be blown across the Pacific and to set fires along the West coast of the United States, Some of the balloons landed without exploding the bombs. An archaeologist examined some of the sand which had stuck to the balloons and pinpointed the Japanese
area from which they were launched, which then became a target for 

American bombers.

64.
It is stated in the passage that archaeologist _______.
A) 
first started their work in ancient Greece

B) 
always work in open fields and not in the city

C)  discover many truths about the past

D) 
have discovered many old cities in Greece 

E) 
are extremely good at telling ancient stories

65. 
From the passage, one can assume that the Japane​se _______.

A) 
launched their balloons carrying bombs from the 


Pacific Ocean

B)
succeeded in their intention with some of their 


balloons

C) 
were American allies during the course of World 


War II

D) 
had aimed to bomb the archaeological sites 


along the West coast of the USA

E)
had remote control devices with which to steer 


the balloons

66. 
The sand stuck to the balloons _______.

A) 
had been put there to increase the weight of 


the balloons

B)
 provided clues about their starting points 

C) 
prevented the bombs from exploding

D) 
was a very special, and thus, valuable type

E) 
actually led to the discovery of an archaeological 


site .

67- 69. soruları verilen parçaya göre cevaplayınız

The British secondary educational system can be 

difficult for a foreigner to understand. This is only to

be  expected in a system where an expensive private

school is  called a "public" school, whereas a school 

which is free and open to everyone is called a "state" 

school. State secondary schools are now usually 

called "comprehensive" schools. This is because 

they combine the functions of two older types of 

schools: the grammar school for academically

gifted pupils, and the secondary modern school for 

pupils who expected to start work at sixteen. The 

situation is further complicated by the continued 

existence of grammar and secondary modern 

schools in a few conservative areas.

67.
The grammar school _______.
A) 
was an older type of secondary school, which no 


longer exists

B) 
combines the functions of two older types of 


schools

C) 
is a type of expensive private school

D)
has now mostly been replaced by 


comprehensive schools

E) 
provides free secondary education for everyone

68. 
We can conclude from the passage that children  in Britain who are going to start secondary education _______.
A)
have go to secondary modern schools if they 


are not very intelligent

B) 
can go to a public school if they have a good re​ 
cord from their previous school

C) 
mostly prefer grammar schools because they 


are more prestigious

D) 
have to take a test to show their academic 


abilities

E)
are more likely to go to a comprehensive school


than either a grammar or secondary modern 


school

69. 
One thing that makes the British secondary educational system diffıcult to understand is that _______.
A)
 state schools are free and open to everyone

B) 
some parents favour grammar schools more than others

C) 
few parents can afford to send their children to public schools

D) 
students are discriminated against their intelligence levels

E)
a private school is called a public school

 70-72. soruları verilen parçaya göre cevaplayınız

Heavy workloads on air traffic controllers were yesterday blamed for a near miss incident three miles from Heathrow Airport, London, when two passenger jets flew within 200 feet of each other. A Virgin Express Boeing 737 was attempting to land as a British Airways Boeing 737 was taking off. A catastrophe was only prevented when an inspector supervising the departures controller overheard the arrivals controller and realized he had turned the Virgin jet into the path of the BA 737, Both aircraft were then instructed by the two controllers to change course and a tremendous crash was just avoided.

70.
The error was said to have occurred because _______.

A) 
the air traffic controllers were not taking their work seriously

B) 
an inspector interfered with the controllers' work

C)
the air traffic controllers had too much to do at one time

D) 
the pilot of a Virgin Express Boeing had made a mistake

E) 
an accident had just taken place not far from Heathrow

71. 
The event that took place was that two planes _______.

A) 
Left hıe ground at the same time

B)
 returned to the airport simultaneously

C) 
had changed course in the air without informing the control tower

D) 
crashed just 200 feet away from the airport 

E)
flew dangerously close to each other

72. 
The problem was solved when _______.

A) 
the pilot of one aircraft warned the controllers 

B) 
one of the planes changed its route

C)
an inspector noticed that two planes were 


directed into the same course.

D) 
new controllers were brought in to take on some of the workload.

E) 
a departures controller informed the inspector of the error.

73-75. soruları verilen parçaya göre cevaplayınız

Heredity and health determine the top limits to which your physical capacity can be developed. This is known as your potential physical capacity. This potential capacity varies from individual to individual. Most of us, for example, could train for a lifetime and never come close to running a four-minute mile simply because we weren't built for it. The top level at which you can perform physically right now is called your acquired capacity because it has been acquired or developed through physical activity in your daily routines.

73.
The author states that _______.

A)
natural athletic ability varies from person to person

B) 
everyone has the potential to be a world class athlete

C) 
İf we trained hard we could all run a four-minute mile

D) 
four minutes is more than enough time for an average athlete to run a mile

E) 
the more one trains, the higher one's physical capacity will be

74.
 "Acquired capacity" can be best defined as _______.

A) 
the top degree which one can reach through exercise

B)
 a level of fitness acquired after years of training C)
 physical attributes inherited from one's parents D)
the degree of fitness gained through one's every​ 


day activities

E) 
the amount of exercise needed to be considered 'fit'

75. 
We can conclude from the passage that ____.

A) 
you may need professional assistance if you are unhealthy or weak by heredity

B) 
It's only through hard work that you can push the top limit of your capacity determined by your health and heredity

C) 
you can't develop your physical capacity above the level allowed by your health and hereditary fe​atures

D) 
hereditary attributes determine whether you are going to lead a healthy or unhealthy life.

E) 
acquired capacity is a state in which you do not have to spend much effort
76-80. sorularda verilen cümleye anlamca en yakın

olan  seçeneği bulunuz.

76.
Although formally known as Inuits, most people refer to them as Eskimos.
A) The people commonly identified as Eskimos 


were once called Inuits.

B) 
Most people cannot tell the difference between 


an Eskimo and an Inuit.

C) 
The Eskimos usually introduce themselves as 


Inuits in formal situations.

D)
They are commonly called Eskimos; however, 


their official name is Inuit.

E) 
Most of the people known as Eskimos are 


actually Inuits.

77. 
In spite of the recent problems, he feels a strong attachment to his sister.
A)
He is very fond of his sister, though they've 


been experiencing difficulties lately.

B) 
He's been neglecting his sister because of the 


hardships he's been suffering recently.

C) 
Although he is devoted to his sister, he's been 


suffering a lot because of her.

D) 
Due to the present disturbance, his great love 


for his sister has diminished.

E) 
Until recently he has been really fond of his 


sister, but she's been making his life difficult.

78.
If it weren't for the Prime Minister’s opposition, the whole thing would be easy.
A)
What makes the situation difficult is that the 


Prime Mınister refuses to agree.

B) 
The Opposition caused problems for the Prime 


Minister, which made the situation even more 


difficult.

C) 
If no one had opposed the Prime Minister, the 


si​tuation would have been much easier.

D) 
It was so difficult to persuade the Prime Minister 


to accept the conditions of the Opposition.

E) 
The strength of the Opposition is the main 


obstacle preventing the Prime Minister from 


getting things done.

79. 
We were not informed of the trouble until the threat had passed.
A) 
We didn't feel there was anything we could do 


until the situation changed.

B) 
We were not careful enough in a potentially 


dangerous situation.

C) 
Once we had realised that there was a problem, 


we were on full alert.

D)
They only told us about the problem after it was 


no longer dangerous.

E) 
Until the trouble became too obvious to conceal, 


no one told us anything.
80. 
Except in the case of extreme emergency, passengers mustn’t engage the train's brake system.
A)
It is forbidden for passengers to use the trains 


emergency brakes unless a dangerous situation 


makes it really necessary.

B) 
When nobody’s life is in real danger, 


passengers don't have to pull the cord that 


enacts the emergency brakes.

C) 
Though primarily for urgent situations, the train 


has spare brakes to allow passengers to stop 


the train at their convenience

D) Under no circumstances should a passenger 


ever use the auxiliary brakes on the train.

E) 
Even in an emergency, it won't be the 


passengers who stop the train using the 


auxiliary brakes, but someone in authority.

81-85. sorularda parçada boş bırakılan yere uygun 

düşen ifadeyi bulunuz.

81. 
We began our long trek in freezing wind and snow. Before we finished, I knew we would encounter not only harsh winter conditions, but burning deserts and scorching sun. _______. For now, the cold was our worst enemy. Huddled around our tiny fire in our tent at night, we felt we would give anything for the warm sun.

A) 
I was looking forward to showing off my tan at 


the swimming pool.

B) 
Tropical rain forests like this present the traveller 


with special difficulties

C) 
This was certainly one of the world's mildest and 


most temperate climates

D)
It was hard to believe that in a few weeks we 


would be longing for a breath of cool air


E) 
We knew that the trip north to the polar region 



would make us all rich and famous

82.
The floppy disk has revolutionised publishing. Before its invention, typed or hand-written documents had to be edited and then completely retyped, whereas now
corrections 


can simply be typed into a computer. _______ and authors sometimes even lost their only copy while taking it to the publisher. Now entire


manuscripts can be copied from one disk to another in an instant.

A) 
E-mail is yet another quick and easy way of 


sending manuscripts

B)
As it was time consuming to make copies of the 


manuscripts, usually there was only one

C) 
Hard disks are now so large that entire libraries 


can be stored on them

D) 
A careless user, however, can erase everything 


from a hard disk

E) 
At one time, however, some authors refused to 


use even the typewriter

83.
Any comparison between life at the end of the last century, and of this one would highlight the enormous advances in medicine which many people nowadays take almost for granted. By 1900, clean water and
good sanitation had 


reduced the death rate from infectious diseases. 

There were no antibiotics, no vaccines, no 

insulin, and no medicines to treat high blood 

pressure, ulcers, cancer, or mental illness. Surgery was severely limited by the threat of

infection. ______.
A) There were a great many new medicines and 


sur​gical techniques to treat illnesses as well

B) 
Unfortunately some of those diseases still exist 


today in Third World countries

C)
However, there was still very little that medicine 


could do for people who were iil

D) 
This very success has actually led to more 


problems because of the resulting 


overpopulation 

E) 
Florence Nightingale was one of the most


important figures in nursing in the 19th century.

84. 
_______ It may be simply a few palm trees around a spring, or a larger area where cultivation of crops is possible. The existence of oases makes it possible for nomads to cross the desert in search of pasture for their animals.
A) 
Desert people are among the most hospitable 


people in the world

B) 
Wandering nomads are always looking for 


somewhere to settle permanently

C)
An oasis is an area İn a desert where there is 


water and vegetation

D) 
Where there is a palm tree in a desert, there is 


usually water available.

E) 
Not many people know that there are many 


farms in the Sahara Desert
85.
The calcium stored in the bones and teeth is
constantly being exchanged with the calcium in the blood. _______. However, too much calcium can  be a problem as well, and can lead to the 


calcification of joints and produce kidney 


stones in 1952, one of
these stones, weighing 


nearly seven kilos, was removed from an 80-


year-old woman.

A) The element was discovered by Sir Humphry 


Davy of England, the discoverer of boron, in 


1808

B) 
Because of this pregnant women should have a 


balanced diet or their bones may suffer damage 

C) 
Copper has been known since prehistoric times


and is just as important as calcium for human 


life 

D) 
Calcium is readily available in dairy products 


and in some vegetables, most notably, spinach

E)
A deficiency of calcium can lead to rickets, a 


disease primarily of childhood in which bones 


remain soft

86-90. sorularda verilen durumda söylenebilecek sözü bulunuz.

86.
You work for a travel agency and have organised a holiday for a couple. However, just 


before they come  in to pay for the tickets, you 


discover that you have quoted the wrong price to them, and that they will  have to pay 


approximately $ 30 more for each ticket  than you had said originally. You feel very bad about
it, so having explained  the situation to the 


couple, you accept responsibility and say 


sincerely:
A) 
I'm sorry, but if you want the tickets, you're 


going to have to pay the extra

B) 
I'm afraid you're going on holiday at a very 


popu​lar time, so prices are high.

C) 
I'm really sorry about it, but it’s not my fault. The 


airline gave me the wrong prices.

D) 
I hope you’ll accept my apologies- I should 


have checked more carefully.

E) 
I feel very bad about this, but the airline didn't 


send us the new prices in time.
87 .
Since you are going to move to another town, you are trying to get rid of some of your furniture and other things at a local outdoor market. It has not been a good day, and just as you are about to pack up, a dealer comes by and offers you a lump sum for everything. It is much less than you had hoped for, but clearing out your excess possessions is more important to you than the money. Still, trying to get a little more, you say:

A) How can you insult me with such a low offer?
B Offer me another ten percent and it's all yours.
C) I'm afraid I have no other choice as I have to get

rid of them
D) Do you always wait until people are desperate to 
make an offer?
E) Good deal, but you'll have to transport them 



yourself.

88.
The boss has gone away on holiday for a few weeks and left you in charge. During this time, one of the other workers starts coming in late. You like him, but feel as if you need to do something. At the same time, you don't want him to think you're being mean. You stop him on his way into the office one day and say:
A) 
Listen, mate. I don't really care what time you


co​me in, but if you're late, don't let me see you

B) 
As long as the boss is away, I'm in charge here 


and I don't want any more nonsense from you.

C) 
If you ever come in fate again, you will be fired. I


don't care what the boss has to say about it.

D) 
I'm going to call the boss at his hotel right now.


You can explain the reason for your lateness 


directly to him.

E)
You're creating an awkward situation. I don't 


want to have to report you when the boss gets 


back.

89.
While walking down the street one day, you run into a friend you haven't seen in a long time. You can't help but notice that he looks horrible he's got two black eyes and his face is all swollen. You'd always thought of him as being particularly non-violent, so you are shocked by his appearance. You express your concern for his well-being, saying:

A) 
Wow! You look as if you've just lost a boxing

match.

B) 
So, have you been up to anything interesting?

C) 
You shouldn’t go out looking such a mess, you 


know.

D)
You don't look well. What happened to you?

E) 
I can recommend a good plastic surgeon to you.

90. 
You're watching your brother's children while he go​es out with his wife. You really like your nephews, but this particular night, they have behaved exceptionally badly. You don't want to get them into trouble, so when your brother gets home and asks how the boys were, you decide not to mention their naughtiness at all and respond light-heartedly.


A) 
Oh, they were fine. They didn't break anything and no one got hurt.

B) 
Don't ask me to watch them again any time 


soon - enough is enough!

C) 
Those kids of yours are hard to look after. Don't 


you ever discipline them?

D)
To be completely honest, they're the worst 


beha​ved kids I know

E) I think you ought to be stricter with them and 


teach them some manners.

91-95 karşılıklı konuşmanın boş bırakılan 

bölümünde söylenmiş olabilecek sözü bulunuz.

91-
Joe 
: Has anyone let Sarah know about the 




changes to our schedule yet?

Kim 

: _______.

Joe 

: Well, make sure you do. Her 




presence at these meetings is vital, 




you know.
A) Yes, I spoke to her about an hour ago

B) I thought you were going to tell her yourself.

C) No, but I'm expecting her to call me sometime 


this morning.

D) I was planning to call her later this afternoon.

E) No, but why don't you fax her a copy of the new


programme right away?

92. 
Sally 
: Wow! You've got great muscles. Do 




you work out?


Jim 
: _______.


Sally 
: What do you do?


Jim 
: I'm a Carpenter, so I'm always 




hammering, sawing and lifting things.

A)
I don't need to. I get plenty of exercise in my 


job. 

B) 
Not actually. My work doesn't require muscle 


power.

C) 
I have to, because I don't get any exercise at 


work.

D) 
Yes, and I have even entered a few international 


competitions.

E) 
So do you. I bet you go to the gym every day. 

93. 
Nigel 
: Sorry, I missed the meeting again.




I bet the boss is really angry with me. Adrian
: _______.


Nigel 
: What a relief! I was afraid he was 




going to fire me this time.

A) 
He is. He said he wants to see you in his office 


as soon as you arrive.

B)
Didn't you hear? He called it off at the last


moment.

C) Well, I've lost count of the meetings you've


missed, actually!

D) 
In fact, he says you should clean out your desk 

and be out of here before the end of the day.

E) 
He certainly wasn’t very happy. I'd avoid him for 


a few days if I were you.

94.
Erica 
: There are some really good jobs in


this week's paper. Why don't you


apply for one ?


Sonia
: _______


Erica 
: Well, they're in school all morning,


so you could get a part-time job.



A) 
I’d like to get out of the house, but I don't know

what I'd do with the kids.

B) 
Maybe I should, but Steve's making plenty of 


mo​ney, and I love having so much free time.

C) 
I'm happy enough with my present job.

D) 
I probably should, but the dogs gets really upset 


if I'm out of the house for too long. 

E) 
You're right, Now that the children have grown 


up, I don't have anything to do any more.

95. 
Laura 
: _______.


Peter 
: Oh, yes, it was actually. 


Laura 
: Well, I do wish you'd be more 




careful.

A) 
Was that your sister I saw with you yesterday? 

B) 
Did you leave your bag in the car again?

C) 
Were you painting in here earlier?

D) 
Was it you who left the oven on?

E) 
Did you put the knife in the right drawer? 
96-100. sorularda anlam bakımından parçaya uygun 

olmayan cümleyi bulunuz.

96.
(I) The abbreviation GI in official U.S. Army usage means government issue or general issue. (II) Thus officially , it denotes supplies which are issued by the quartermaster service. 


(II) However, it was adap​ted as slang, and subsequently applied to any servi​ce custom or regulation, such as 'GI haircut.' (IV) The classic GI haircut is the short back and sides cut known as a 'crew-cut', which became fashionable for men in the fifties. (V) In World War II, by extension, it came to mean any enlisted service man or woman. 

A) I               B) II              C) III             D) IV             E) V

97.
(I) The future of asbestos appears grim. 


(II) After two decades of horrendous headlines, this strange fibre probably represents the most feared contaminant on the Earth. (III) It is almost certainly the most expensive pollutant in terms of regulation and removal, with several billion dollars being spent on this in 1997 alone. (IV) Known since ancient times, it is mined principally in Canada, and is used for many purposes. (V) The very size of the crises, however, hides an important irony: the problem with asbestos would never have grown so bad had we not previously thought the material was so 
remarkably good.
A) I               B) II              C) III             D) IV             E) V

98.
(I) Nowadays, there is a growing tendency to keep wild animals, such as racoons, as pets. 


(II) The racoon is a mammal native to North America. (III) It is about the size of a cat and has distinctive stripes of fur across its eyes and a large striped tale. (IV) It eats practically anything and hunts mostly at night. (V) The racoon prefers wooded areas near water but may be found close to large cities too.
A) I               B) II              C) III             D) IV             E) V

99.
(I) Like the Shetlands 50 miles to the north, the
Scottish island of Orkney has historical links to
Scandinavia, through the Norsemen. (II) For almost 500 years, until the 15th  century, it was a Norse colony. (III) The houses of the Norsemen differed according to the resources of each country.  (IV) The Norsemen were attracted to the island by its stable climate and rich soil.


(V) These provided ideal - and in this par of the world almost unique - conditions for farming.
A) I               B) II              C) III             D) IV             E) V

100.
(I) Even today more than 90 percent of the people of the Guineas live in a coastal zone only a few miles wide. (II) The Guinean population is extremely mixed, largely as a result of former slavery and the  system of indentured labour.



(III)
These systems provided the European planters with workers.  
(IV) In the latter system, the labourer agreed to work without wages for a number of years in return for payment of his passage to the colonies.
 (V)
Most of these workers came from India and the East Indies.
A) I               B) II              C) III             D) IV             E) V
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